Name: ____________________________ Date: _________
Grade 5 - Unit 5:  Divide Decimals 

   Targets                                                  			A = Achieved Target
NA = Nearly Achieved Target
D = Did Not Meet Target
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Show or explain your work on this test.
-------------------------------------------------------------------------------- Target 1 --------------
Complete the pattern.
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--------------------------------------------------------------------- Target 2 -----------
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image6.png
Tom and his 4 brothers caught 100 fish
on a weeklong fishing trip. The total
weight of the fish was 635 pounds.
What was the average weight of 1 fish?




image7.png
Emma, Brandy, and Damian will cut a
rope that is 29.8 feet long into 3 jump
ropes. Each of the 3 jump ropes will be
the same length. Which gives the best
estimate of how long each jump rope
will be?

A 09 foot

B 19 feet

c 9 feet

D 10 feet




image8.png
Les is sending 8 identical catalogs 1o
ane of his customers. If the package
with the catalogs weighs 6.72 pounds,
how much does each catalog weigh?




image9.png
Tabitha bought peppers that cost
$0.79 per pound. She paid $3.95 for
the peppers. How many pounds of
peppers did she buy?




image10.png
Luke cut down a tree that was 28.8 feet
tall. Then he cut the tree into 6 equal
pieces 1o take it away. What is the
length of each of the pieces Luke cut?

A 4.06 feet
B 4.08 feet
© 456 feet
D 48 feet




image11.png
Lisandra made 22.8 quarts of split pea
soup for her restaurant. She wants to
put the same amount of soup into each
of 15 containers. How much soup will
Lisandra put into each container?




image12.png
Karl drove 617.3 miles. His car gets
about 41 miles per gallon. Which s the
best estimate of how many gallons of
gas Karl used?





image13.png
Maritza is buying a multipack of
3 pairs of socks for §25.98. She will
save $6.39 by buying the multipack
instead of buying 3 individual pairs of
the same socks. If each pair of socks
costs the same amount, how much
does each pair of socks cost when
bought individually?




image14.png
Serena is decorating her scrapbook
with a piece of trim that is 102.2 inches
long. If she cuts the trim into 14 equal
pieces, how long will each piece be?

A 0073 inch
B 0.73inch
© 73inches
b 73 inches




image15.png
Hank has a large bag of trail mix that
weighs 7.8 pounds. He uses the trail
mix in the large bag to make small
bags each containing 0.6 pound of mix.
How many small bags can he make
from the large bag?




image16.png
Ata diner, Hailey's lunch cost $6.75.
Her sister's lunch cost $5.95. After
lunch they each had a frozen yogurt
that cost the same amount. Together
the girls spent a total of $17.40. How
much did each frozen yogurt cost?
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Roger drove 363 miles to visit his
cousins. It took him 6 hours to get
there. What was the average speed
that Roger drove?
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Cynthia bought some grapes on sale
for $0.94 per pound. If she paid $2.35
for the grapes, how many pounds of
grapes did she buy?
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Aclerk stacked 11 paper cubes to
make a display. The height of the stack
is 79.2 centimeters. If each paper cube

is the same height, what is the height of
each cube?




image20.png
Eric spent $22.00, including sales tax,
on 2 jerseys and 3 pairs of socks. The
jerseys cost $6.75 each and the total
sales tax was $1.03. How much did
each pair of socks cost?
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Anya s spinning a big arcade wheel
that can make 1 revolution in

06 minute. How many revolutions can
the wheel make in 10.8 minutes?
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Mary Beth has 41.8 pounds of horse
feed left to feed her horses. She feeds
her horses 7 pounds of horse feed a
day. About how many days will the
horse feed last?
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Lynette bought 2 CDs for the same
price. She paid $23.15, including sales
tax of $1.19 and a $2.00 discount
coupon. What was the price of 1 CD
without the tax and coupon?
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Chase can buy a pack of baseball cards that contains 24 cards for
$3.84, or he can buy a pack that contains 60 cards for $8.40. Chase
wants to buy the pack of baseball cards that is the better buy. Which
pack should he buy? Support your answer.
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Prices For } Dozen Flowers

Rose §5.29

Carnation $3.50

Tulip 54.79
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Prices For ; Dozen Flowers
Samantha is making some florg) arrangements.

The table shows the prices for J dozen of each Rose §5.29
type of flower. Carnation 5359
D - - Tull $4.79
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Samantha wants to buy 6 roses, 4 camations,
and 8 wlips. She estimates that she will spend
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$14 on these flowers. Do you agree? Support your answer.
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Along with the flowers, Samantha bought 4 packages of glass beads and
2 vases. The vases cost $3.59 each and the total sales tax was $1.34.
The total amount she paid was 52850, including sales tax. Explain a
strategy you would use to find the cost of 1 package of glass beads.
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32+1=

32+ 10

32+ 100 =

32+ 1,000 =




image2.png
925+ 10° =
92.5 = 10" =

92.5 + 10% =
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Rita is hiking along a trail that is
13.7 miles long. So far she has hiked
along one-tenth of the trail. How far
has Rita hiked?

A 137 miles
B 137 miles
€ 0137 mile

D 000137 mile
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Kayleigh uses wire to make the bows
for bouquets at her flower shop. She
will cut a piece of wire that is

97.5 centimeters long into 10 equal

pieces. How long will each piece be?
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Thomas paid $50 for a box of multicolor
file folders for his office. There were

100 folders in the box. What was the
cost of each file folder?
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